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= VAN 253 131 122 3,579 1,832 1,747
#x | RN THET4AF 242 116 126 3,058 1,523 1,535
Al #0s 9 5 4 51 34 17
*Ai it 504 252 252 6,688 3,389 3,299
5] = VAN 253 133 120 3,000 1,558 1,442
g | & | BNt ETAS 294 142 152 3,045 1,473 1,572
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by # 73, 684 173, 443 81, 651 91, 792 -87 -38 -49
H A B 19, 987 46, 666 21, 265 25, 401 -17 -18 1
+ = 584 1,363 643 720 -1 -2 1
FBAF—TH 260 649 297 352 4 1 3
4BE_-TH 158 375 157 218 -2 0 -2
4BE=TEH 273 661 292 369 4 1 3
4BFMTH 365 875 415 460 2 -1 3
4SBERTH 244 589 269 320 -3 -1 -2
4BAFENRTH 468 1,072 458 614 0 0 0
Z B = 1,195 2,784 1,304 1,480 1 1 0
FmEEfA—TH 250 615 284 331 1 0 1
mEMA=TH 147 388 169 219 1 1 0
£/T—TH 508 1,136 493 643 -6 -2 -4
£/ TFZTH 192 411 187 224 -1 0 -1
£/ TF=TH 248 551 264 287 -3 0 -3
£/ THETH 340 751 343 408 -2 -1 -1
£/ THETH 40 96 47 49 -1 0 -1
£ /J F 18 42 19 23 -1 -1 0
mAB®—TH 198 415 175 240 3 0 3
RAXZTEH 159 376 167 209 9 0 9
MABR=TH 131 323 154 169 0 0 0
RASMTH 257 576 256 320 5 -1 6
INET—TH 135 272 126 146 -3 0 -3
INETZTH 442 1,090 471 619 -4 1 -5
INBT=TH 247 532 229 303 -2 -1 -1
KET—TH 440 928 408 520 4 0 4
KET—TH 583 1,274 571 703 1 0 1
KET=TH 379 847 382 465 -2 -1 -1
KETIUTH 388 937 429 508 0 -3 3
KETRTH 313 729 359 370 1 0 1
KETRTH 189 519 242 271 -4 -1 -3
KETETH 83 221 100 121 0 0 0
MARE—TH 435 1,002 467 535 8 0 8
MARE_TH 419 959 440 519 2 1 1
MARE=TH 621 1,493 682 811 -3 0 -3
MAREMNTH 264 625 290 335 0 0 0
MARERTH 560 1, 381 643 738 3 -1 4
MARERTH 474 1,144 554 590 -8 -2 -6
B AE—TH 489 1,004 463 541 -11 -1 -10
HEHEZTH 755 1,664 738 926 9 0 9
HLEAE=TH 375 878 415 463 3 -1 4
HEHERTH 373 871 414 457 0 1 -1
Bl Rk HT 492 1,097 468 629 0 -2 2
£ B H 334 840 3N 469 -1 0 -1
{EBh—TH 420 1,043 504 539 -2 -2 0
{EBI—TH 276 673 325 348 -3 -1 -2
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£E&—TH 338 813 369 444 4 1 3
EAZ-TH 744 1,624 740 884 2 0 2
EA&=TH 160 446 191 255 -1 -1 0
EAWMTH 131 259 119 140 -1 0 -1
EAETH 383 958 462 496 2 2 0
kR / F 502 1,258 540 718 -5 -2 -3
BEEF—TH 288 641 296 345 3 2 1
WEEF_TH 251 582 261 321 -2 0 -2
WEE=TH 186 402 176 226 -2 0 -2
WBEEFLMTH 98 246 109 137 -1 0 -1
A AB—TH 243 528 244 284 -2 0 -2
WM AHB=-TH 171 406 189 217 -3 -2 -1
WAAB=TH 217 562 231 331 0 1 -1
WA AHBmTAE 147 408 180 228 -1 0 -1
WMAABETH 607 1,462 674 788 -8 -1 -1
B o #h i 10, 156 24,713 11, 577 13,136 16 -3 19
[E#—TH 397 1,319 587 7132 0 -2 2
E#g_—TH 500 1,187 580 607 3 0 3
E#=TH 17 1,663 764 899 2 1 1
E#rm T B 328 724 365 359 -7 0 -7
E#ATH 383 936 439 497 -6 -1 -5
B o - E 2,477 5,875 2,786 3,089 15 2 13
fE—TH 481 1,129 520 609 1 -2 3
% E_TH 392 982 448 534 1 0 1
mEHE=TH 264 659 302 357 -2 0 -2
mA#EENTH 461 1,090 516 574 3 1 2
tEBHEERE—TH 7 21 11 10 0 0 0
tEBAHEER-TH 467 1,097 492 605 2 0 2
tEBHEER=TH 496 1,264 583 681 -8 -1 -1
tEBAHEEREMTH 495 1,157 512 645 3 1 2
tEBAHEERRATH 291 709 348 361 0 -1 1
EmB—TH 708 1,809 865 944 5 2 3
EBR_-TH 459 1,100 519 581 1 -2 3
tBHE—TH 451 1,060 510 550 -1 0 -1
tEBAHEZTH 382 932 430 502 4 -1 5
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FEOR O = 14,120 33, 831 16,076 17, 755 -48 -10 -38
#E—TH 343 814 395 419 1 -1 2
w’E_-TH 167 1,983 924 1,059 4 -1 5
#E=TH 576 1,444 662 782 5 0 5
R#EOTH 338 767 346 421 -2 -1 -1
#ERTH 396 799 369 430 0 0 0
i =) 240 475 261 214 -3 0 -3
FHN—TH 473 1,111 550 561 6 0 6
= i = 499 1,169 513 656 3 -1 4
FH9=TH 402 1,019 435 584 3 0 3
F 4 271 585 285 300 -2 0 -2
1] % 2,232 5,273 2,615 2,658 -19 0 -19
t B E 745 1,746 856 890 -8 0 -8
FL—TH 285 724 349 375 5 0 5
FILZTH 447 1,141 537 604 1 0 1
FIR=TH 316 818 404 414 -1 -1 0
FLEMTH 569 1,458 709 749 -4 -3 -1
FLAETH 220 463 234 229 2 0 2
FILATH 107 221 119 102 -2 0 -2
F i 44 100 43 57 -1 -1 0
HEH—TH 196 439 213 226 -11 0 -11
HH_-TH 390 987 486 501 -7 1 -8
HEHA=TH 831 2,007 980 1,027 -17 -2 -15
HHMTH 329 798 378 420 -3 -1 -2
EARATH 616 1,482 692 790 -1 0 -1
HHNTH 201 480 228 252 5 1 4
4] H 0 0 0 0 0 0 0
w i 1, 411 3,372 1, 540 1,832 -1 0 -1
#wEL—TH 207 568 247 321 2 0 2
#HEIL—-_TH 249 627 282 345 0 0 0
HEIL=TH 276 630 282 348 0 0 0
#HEILMTH 138 331 142 189 -3 0 -3
X M #h = 19, 321 43,105 20,710 22,395 -15 -8 -1
b/ A 1,723 3, 853 1,809 2,044 -6 0 -6
5Z-TH 732 1,326 665 661 5 0 5
£=TH 665 1, 498 127 71 2 0 2
EMTH 762 1,704 815 889 -2 -2 0
EETH 1,127 2,755 1,365 1,390 -17 -1 -16
a 834 2,014 945 1,069 6 -1 7
INEA—TH 568 1,033 515 518 -2 -1 -1
INERZTH 913 1, 981 984 997 11 1 10
I BB 53 118 58 60 0 0 0
RKw—TH 287 495 230 265 7 0 7
KHW=—TH 875 1,531 720 811 -6 0 -6
KMW=TH 555 1,120 525 595 2 0 2
KM@ TH 708 1,577 769 808 -3 -1 -2
KMETH 780 1,727 791 936 -1 1 -2
RKMWATH 574 1,148 553 595 1 1 0
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X fia 1, 341 3,159 1,508 1, 651 4 -3 7
=) 52 298 875 427 448 3 0 3
A#—TH 1,653 3,753 1,828 1,925 -4 4 -8
= ] 1,975 4 529 2,222 2,307 -3 0 -3
SR—TH 191 458 223 235 -2 0 -2
SR-TH 362 940 439 501 4 0 4
SR=TH 248 570 287 283 0 -2 2
SEROETH X X X X 0 0 0
SRAETH 0 0 0 0 0 0 0
SRE—TH 311 795 369 426 -2 -2 0
SRE-TH 204 453 217 236 -3 -1 -2
SRE=TEH 248 584 258 326 -4 0 -4
SREMTH 461 1,082 497 585 -4 0 -4
SREERETH 168 415 189 226 1 0 1
SREBENTH 336 740 354 386 -1 -1 0
SREETH 369 872 421 451 -1 0 -1
E # th = 10, 100 25,128 12,023 13, 105 -23 1 -24
&5—TH 409 801 417 384 1 1 0
fA—TH 645 1,419 684 735 4 2 2
BAAZTH 759 1,556 733 823 -1 2 -3
£ PN 1, 791 4,604 2,162 2,442 -10 1 -11
E#—TH 570 1,267 590 677 -3 1 -4
E#H_TH 668 1,675 797 878 -4 -2 -2
EH=TH 256 622 311 311 1 1 0
E#EMOUTH 232 666 304 362 -4 0 -4
EHEATH 452 1,142 551 501 -3 -1 -2
HE X 2,221 5,652 2,771 2,875 4 0 4
177 & 1,389 3,716 1,773 1,943 -5 -1 -4
E3] = 708 2,008 924 1,084 -3 -3 0
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